Check Figures

for use with
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Chapter 14

Problem 14-1
Industry average net income as a percentage of sales = 4%.

Problem 14-2
Net income for 2002 = $172,800.

Problem 14-3
Total current liabilities = $227,600.

Problem 14-4
Current ratio = 0.8 to 1.

Problem 14-5
Current ratio = 3 to 1.

Problem 14-6
Return on assets = 10.5%.

Problem 14-7
Quick ratio = 2.25 to 1.

Problem 14-8
Net income = $800.

Problem 14-9
Current ratio = 0.85 to 1.

Problem 14-10 Inventory turnover = 5 times.

Problem 14-11 Operating cycle, Another World = 102 days.

Problem 14-12 Goodyear’s current ratio = 1.4 to 1.

Problem 14-13 No check figures given.
